ALLTOBOUI? ST IEI4E
N l;ﬁlI!'-ll-Jl F

—iAEA BT

SUS Series Two Piston Pneumatic Actuator




ALLTORQUE

o #EE Explode View

01



FEBE-BAHAZR Parts List

~ °®
ALLTORQUE
)

Fs 2% HE "R
Item No. Part Description QTyY Material
] 1B T | B4
Indicator Screw Carbon Steel
5 BN 1 TiRER
Indicator Engineering Plastic
3 B4 . R
Snap Ring Stainless
4 ] ] TR
Steel SUS304
5 B ] TREk
Plastic Washer Engineering Plastic
6 Ik ] TR
Body SUS316
7 BE P REN
Piston SUS316
8 O B (&E) 5 TR
O-ring (Piston) NBR
9 HER 5 THER
Piston Ring Engineering Plastic
HE AN BEW
2 Spring eals Spring Steel
i O BE (f%) 5 THERE
O-ring (End Cap) NBR
1 % 5 R
End Cap SUS316
13 FRALERAS > REEN
Stop Bolt SUS304
14 M7 B4 Sk igie 8 W
Socket Head Screw SUS304
15 SR P TR
Guide Ring Engineering Plastic
16 O B (iFFigek) 5 THEBAL
O-ring (Adjusting Bolt) NBR
2R REN
7 Nut 2 SUS304
18 UEREL = 5 W
Adjusting Bolt SUS304
19 SiRE 5 TRER
Plug Engineering Plastic
20 7 1 THEER
Washer Engineering Plastic
21 AERTOR 1 REN
Stroke Adjusting Stop SUS316
20 i (L) 1 TRER
Bearing (Shaft Top) Engineering Plastic
o3 O W (#E) ] TR
O-ring (Shaft Top) NBR
24 EE 1 TEW
Pinion Shaft SUS316
o5 WR (8T ) | Tiwp
Bearing (Shaft Bottom) Engineering Plastic
6 O BE (54T ) 1 TRERE
O-ring (Shaft Bottom) NBR

02




®

N\
ALLTORQUE
.’

T{EJRIE: Operations

tnEIRE A R RIRATE X, SIANESLZE A OeTLAERYEhEsE .
The standard rotation is clockwise to close; counter-clockwise rotation is
obtained when port A is pressurized.

RIERTEE

Double Acting Operation Function (Standard Rotation) Top View

+

+ o+

+

+

+ o+
o+ o+ o+ o+ o+ 4+

+

+

3
I
I
I
I
I
I
I
T

+ o+ +
]+ + + +P+ + + +

=

T

"

1
Tr i+ F |[FE T ¥ rIr T
1 [

REED

CCW (iERgEt7aM)

ER#=SHARA, FEFZEAMMRMAIE, SERHY
Rt AR, MEEMNETSH B Hil.

Air supplied to Port A forces the pistons apart and
toward end positions, with exhaust air exiting at Port
B, a counter-clockwise rotation is obtained.

CW (IiBt73ra)
EHEE=SHBEA, FEAGEEEROBE, SRR 5
FaEEs), mEERENZSH A B,
Air supplied to Port B forces the pistons together
with exhaust air exiting at Port A, a clockwise rotation
is obtained.

BiERATER
Single Acting Operation Function (Standard Rotation) Top View

CCW (iZRIEt7TE)

EFE=SHABAN, FEAEERBRSRIE, SRHE
R REE), WIEEME=SH B Ht.

Air supplied to Port A forces the pistons apart and
toward end positions, compressing the springs with
exhaust air exiting at Port B, a counter-clockwise
rotation is obtained.

CW (NiBt73rA)

KSEKRBH, BTHRENEREREZEAT OB, N
mIRETEt S AEEs), =SH A HEY

On loss of air pressure (air or electric failure) at Port
A allow the springs to force the pistons to the centre
position with exhaust air exiting at Port A, a
clockwise rotation is obtained.

04



A
Metric Unit mm

ZHER (SUS045-SUS210)
Installation Size(SUS045-SUS210)

»

~ ©
ALLTORQUE
)

Il __l NUMAR ﬂ$ﬁ Hqiﬁ
L iy N S

p
L]
oW

B\

4

=
\
~VADN A
(%
q

U

NURAR G1/4" tr£=0

SUS045 ‘ SUS052 ‘ SUS063 ‘ SUS083 ‘ SUS105 ‘ SUS125 SUS140 ‘ SUS160 ‘ SUS210
A 133 146 173 204 270 302 394 456 568
B 64 72 88 108 133 155 172 198 257
C 28 30 36 48 50 58 69 75 90
D 84 92 108 128 153 175 192 218 287
E 46 47 54 65.5 77 87 95.5 106 133
F 25 32 38 48 60 69.5 77 87 113
G 14 14 18 21 26 27.5 32 34 40
H 80 80 80 80 80 80 80 80 130
| 30 30 30 30 30 30 30 30 30
N 11 1 14 17 22 22 27 27 36
J ®50 50 70 ®70 ®102 102 125 ®125 ®140
K ®36 36 50 ®50 ®70 70 102 ®102 -
L M6*10 M6*10 M8*13 M8*13 M10*16 M10*16 M12*20 M12*20 M16*24
M M5*7.5 M5*7.5 M6*10 M6*10 M8*13 M8*13 M10*16 M10*16 -
Airiﬁiaion G1/4" G1/4" G1/4" G1/4" G1/4" G1/4" G1/4" G1/4" G1/4"

1. PR IEE TS VDI/VDE3845 tRiff , AILAR M (Eit e (VAR MR T R EF M.
1) Top mounting connection is according to VDI/VDE3845 standards, permitting direct installation of accessories
such as positioner and limit switch box.

2. [REBLREHE (I JiERE ) & 1505211 & DIN3337 #Rf,
2) Bottom mounting connection is according to 1ISO5211 and DIN3337 standards.

3. MEHSEOERESS VDI/VDE3845 NAMUR #RfE , A 75 {Eith L 2EEB /A,
3) Air supply connection is according to VDI/VDE3845 and NAMUR standards to install solenoid valves
conveniently.



®

.
ALLTORQUE
.’

BEERESE Weight & Air Consumption

2

Metric Unit mm

ke FTHF B iE] X ) B i EESE EESE
Body Diameter Air Consumption Per Opening Time Closing Time Approximate Weight Approximate Weight
Stroke Actual Volume / L DA DA DA SR

SUS045

SUS083

SUS105

SUS125

SUS140

SUS160

* TR shIERT B 24K T2 &4 FrfS + The above indicated moving time of the actuator, are obtained in the
(1) &g following testcons:
(2)90° 15712 (1)Room temperature
(3) BRRAERTLA 4 2K ERIERES T QN400L/ 54 (2)Actuator stroke 90°
(4) 5EERRA 5 =X (3)Solenoid valve with orifice of 4mm and flow capacity QN 400L/min.
(5) NERAFENES (4)Inside pipe diameter 5mm
(6) SEEHN5.5E (79.75psi) (5)Medium clean air
(7) =SERRE (6)Air supply pressure 5.5 bar ( 79.75psi )

(7)Actuator without external resistance load



L
~ ©
ALLTORQUE
)

t. ERmENE (2F)
Output Torque of Double Acting Actuator(metric)

N
Metric unit N.m

MAEMA S 5B Output Torque of Double Acting Actuator




®

N\
ALLTORQUE
.’

J\. B{ERWHENE (2F)
Output Torque of Spring Return Actuator(metric)

metric unit N.m

HREN
Sori

Return

BEMAAEAYE Output Torque of Spring Return Actuator

6 6.8 4.3 7.4 5.1
7 5.9 3 9.9 7 8.6 5.9
8 5 1.7 9 5.7 131 9.8 9.9 6.8
9 8.1 4.4 12.2 8.5 16.2 125 111 7.6
10 7.2 3.1 1.3 7.2 15.3 1.2 19.3 15.2 23.4 19.3 12.4 8.5
11 10.4 5.9 14.4 9.9 18.4 13.9 225 18 13.6 9.3
12 9.5 4.6 13.5 8.6 17.5 12.6 21.6 16.7 14.8 10.1
6 12.7 8.1 125 8.2
7 1.2 5.9 18.3 13 14.6 9.6
8 9.8 3.7 16.9 10.8 24 17.9 16.7 10.9
9 15.4 8.6 225 15.7 29.6 22.8 18.8 12.3
10 14 6.4 211 135 28.2 20.6 35.3 27.7 42.4 34.8 20.9 13.7
11 19.7 1.3 26.8 18.4 33.9 25.5 41 32.6 22.9 15
12 18.2 9.1 25.3 16.2 32.4 23.3 39.5 30.4 25 16.4
6 26.2 171 27.6 19
7 22.9 12.3 38.3 27.7 32.2 221
8 19.6 7.4 35 22.8 50.5 38.3 36.8 25.3
SuUS083 9 31.6 18 471 33.5 62.5 48.9 41.4 28.5
10 28.3 13.2 43.8 28.7 59.2 441 74.6 59.5 90 74.9 46 31.6
11 40.5 23.8 55.9 39.2 713 54.6 86.7 70 50.6 34.8
12 371 19 52.5 34.4 67.9 49.8 83.3 65.2 55.2 38
6 58.7 36.5 59.1 38
7 521 26.2 85 59.1 68.9 44.3
8 45.4 15.8 78.3 48.7 1111 81.5 78.7 50.6
SUS105 9 .7 38.4 104.5 71.2 137.4 | 1041 88.6 56.9
10 65 28 97.8 60.8 130.7 93.7 1636 | 126.6 | 196.5 | 159.5 98.4 63.3
11 91.1 50.4 124 83.3 156.9 | 116.2 | 189.8 | 149.1 108.3 69.6
12 84.5 40.1 117.4 73 150.3 | 105.9 | 183.2 | 138.8 | 118.1 75.9
6 87.9 55 941 62.8
7 76.8 38.5 127.8 89.5 109.7 73.3
8 65.8 22 116.8 73 167.8 124 125.4 83.8
SUS125 9 105.8 56.5 156.8 | 107.5 | 208.8 | 159.5 1411 94.2
10 94.8 40 145.8 91 197.8 143 248.8 194 299.8 245 156.8 | 104.7
11 134.8 745 186.8 | 1265 | 2378 | 1775 | 2888 | 2285 | 1724 | 1152
12 123.7 58 175.7 110 226.7 161 277.7 212 188.1 125.7

07



o
~ ©
ALLTORQUE
)

BEABENE (2F)
Output Torque of Spring Return Actuator(metric)

metric unit N.m

BIEA AR Output Torque of Spring Return Actuator

6 154.6 | 100.1 154.8 | 102.9
7 136.6 73 224.6 161 180.5 | 120.1
8 1185 45.8 2065 | 133.8 | 2945 | 221.8 206.3 | 137.3
SUS140 9 188.5 | 106.7 | 276.5 | 194.7 | 3635 | 281.7 232.1 154.4
10 170.4 79.5 2584 | 167.5 | 3454 | 2545 | 4334 | 3425 | 5214 | 4305 | 2579 | 1716
11 240.3 | 1404 | 3273 | 2274 | 4153 | 3154 | 5033 | 4034 | 283.7 | 188.7
12 2223 | 113.2 | 309.3 | 200.2 | 397.3 | 288.2 | 4853 | 376.2 | 309.5 | 205.9
6 2246 | 1379 250 168
7 195.2 94 329.2 228 292 196
8 165.8 50.2 299.8 | 184.2 | 4328 | 317.2 333 223
SUS160 9 270.4 | 140.3 | 403.4 | 273.3 | 537.4 | 407.3 375 251
10 241 96.4 374 229.5 508 363.5 641 496.5 775 630.5 417 279
11 3446 | 1856 | 4786 | 319.6 | 611.6 | 452.6 | 745.6 | 586.6 458 307
12 3152 | 141.7 | 449.2 | 275.7 | 5822 | 408.7 | 716.2 | 5427 500 335
6 442 309 432 313
7 384 230 647 493 503 365
8 326 150 589 413 853 677 575 417
SuUS210 9 531 333 795 597 1058 860 647 469
10 473 253 737 517 1000 780 1263 1043 1526 1306 719 521
11 679 437 942 700 1205 963 1468 1226 791 573
12 621 357 884 620 1147 883 1410 1146 863 625




- Y

ALLTORQUE  HfiTE
Q ISR EE

1T W3ERF How to order

HITRES  Wah B HERS HIAAE I BEHHRBMNE
Actuator Double Spring Spring Open Options Spring Return
Model Acting Return Code Angle Fail Position

SuUS045 DA 0°~ 90° T= %38 NBR 237 (-4 °F to 126 °F -20°C to 80°C) FC = 5%
SUS052 SR 06 T=Normal temp NBR seal (4 °F to 126 °F -20°C to 80°C) FC = Fail close
SUS063 07. 08 = /58 VITON 2553/ (4 °F to 250 °F -20°C to 120°C) FO = 557
SUS083 09. 10 H=High temp VITON seals(4 °F to 250 °F -20°C to 120°C) FO = Fail open
SUS105 11. 12 L= {fi& SILICONE Z%3F8 (40 °F to 176 °F -40°C to 80°C)

SUS125 L=Low temp SILICONE seals(40 °F to 176 °F -40°C to 80°C)

SUS140

SUS160

SUS210

SUS052 SR 05 90° P FC

A ISERABERERRAE
Zhejiang Dingfeng Fluid Autocontrol Equipment Co.,Ltd.
ok SRMNTHERBNEEZEE RN SMNIWE 2 S ®
No.2 Factory, Jinzhou Industrial Park, Guoxi Town, Ouhai / ‘
Avenue, Wenzhou City, Zhejiang, China ALLTORQUE
BiE (TEL):0086-577-88914953 ) 4
fEE (FAX) : 0086-577-88914963
E-mail:all.torque9@df-valves.com
Http:\\www.df-valves.com
www.df-v.com ARBEFE@mRITSEMBEED , BABTIEM

Zhejiang Dingfeng Fluid Autocontrol Equipment Go.Ltd.




